     Cholkar     MCHS     MATH II       ___/___/___         Name____________________________
	U6L2INV1
	How do we find the probability of independent events?

	HW # 

	 CYU pg. 528; pg. 536 # 1; pg. 559 # 20, 21  [1, 20, 21]

	Do Now

	Begin reading introduction on pg. 522.  Answer the questions below.
a.  In what sense does the gene for freckles “dominate” the gene for no freckles?

b.  What is the probability that a child will have freckles if both parents do not have freckles?

c.  What is the probability that a child will not have freckles if each parent has one freckles gene and one no-freckles gene?

d.  Can you determine the probability that a child of freckled parents also will have freckles?
[image: image2.jpg]






 INVESTIGATION:  THE MULTIPLICATION RULE FOR INDEPENDENT EVENTS (pg. 523)
My role for this Investigation ________________________
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a.  _____________________________________________________
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b.  
i.  __________________________________________________
ii.  _______________________________________________________________________________________
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c.  Shade in female and sings in the shower:  
d.  What is the probability that an adult selected at random is a female

and sings in the shower?

e.  What is the probability that an adult selected at random is a male and 

does not sing in the shower?

2.  What is the probability that it takes exactly two rolls of a pair of dice before getting doubles for the first time?

a.  _____________________________________________________________________________________
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b.  Shade the squares above that represent the event not getting doubles on the first roll and getting doubles on the second roll.  

c.  ______________
d. _______________
e. _________________

3.  Make an area model to help you determine the probabilities that a child will or will not have freckles when each parent has one freckles gene and one no-freckles gene.

a.  __________
 b. __________________________________________________________________

4.  Use an area model to answer the questions for number four.  I have given number 4a to you.
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a.  






 b.

Probability:  ___________

(TOGETHER)  5.  Independent events:  ​​​​​​​________________________________________________________
If A and B are independent events, then P(A and B) = ____________________________________

6.  a. _____________________________________________________________________________________

b.  _______________________________________________________________________________________

7.  a.  ___________________


b.  Rule:
c.  Write the multiplication rule for calculating the probability that each of four independent events occurs.

_________________________________________________________________________________________

8. a. _______________
b. _________________
c. ________________

d. _______________

e. _______________________________________________________________________________________  

	Lesson Summary
	In this investigation, you learned how to find the probability that an event A and an event B both happen, when the two events are independent?
How can you use an area model to find the probability that an event A and an event B both happen?

What does it make sense to multiply the individual probabilities when you want to find the probability that two independent events both happen?
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